0167342

=

=

s=s94

0167342
19984092 28

19983 12801
£1992-005907
1992704227

=

| K
3
Xt

=
&

J_]_O
=

|

HS
N At

rn]
=)
=
S

|

(11)

(24)

(45)
(65)
(43)

tE 605-1611

= 0l8& S3cl 2354

1990-013754
1990EH09= 01

NEA E3 HEBZ 20} 150
JEE

=}
=

Int. CI.

A23L 1/31
(72)

(51)

gt AS 202

OF
__.A._

_{

gl

S Ot

oJ

00
H

oJ

00
W

R0

(54) SHEBE X4

(74) tHelel

00

U

= SIS N30 A

Jtotod ME®

= =
= O

=
MISOICt.

20l

ZH A

K0
8o

ol
8o

-

ol

Fall]
eyl
0
=
<0

ol
8o

-

ol

Ki0 70!

A
o5

=10 M

] xaw

R 20

o0 o
<
=

7 N 76
S o0
TR

un 2 25
= ok T4
m_w RS}
ol — ==
<Jio
HJ 760 T

or . ok
_.mmo loF m|=_
a0l X
=R oD
0 H ~J
s~ B
np M —
o ) K
Ujo B0
3 R I
oo
™=

<oWs
[0~ Mo &%
~ O R

of o 2 o
Ujo By ™ Ro
o . I
= W o
05 &
Il ;
BRI
oir 10 K gy
RENEE
Y A NE)
& oy DF @._
-t 57 <V

o i O

ol F_.__ ulo Ko

il o 3 S
=3

KIr o) A~ KO

3-1

[& A0 1]



0167342

=

=

s=s3

-

0.27
G.68
1.82
n.87
10G.00

a}

v]
|

shebd A4
a8

A
3

12.00
1.46
0.13

1.21

4 9

7}

=% ¥ A%, dP2x{ 61.00
- &3 - P
n)xEet=xvl

14
B

RU o
= K O 0| &
o _ = 53 <0
<0 ~ % 53
< e} = L|=.__._
3 o 2 ~ Ok
E W R_ =
. o
R Ay O L oﬂmﬂﬁ
W 23 ; E———
A0 w__m ° et W_._E
Kl A |A=_ = e 5 SFo@ = 0 RS
<< i L T IS B A = N
=) : : i o o
110 —_ L||_ .D..,.’a*al ool o e il S ;P @JI o
o< ® w P =R
r OF X0 7oy : : & -
LH —Jo o < i )
® Sa o SR S S S S
- o o : : LI e 3
° om0 3 : . o o
; S -
aT s % P omE
.- S = o m le o oo o ol 6
O = ) = n Jdo . Y N T S T R~ B V> A
W= W o = a g | : 1
T wlgo o ~ I e ——— =
= < mw..m -~ I : ko ==
o ol T : ; =2
v i 5 . in |5 28 2 2] i
N O < < M_\ or a, _no.. 9 - v PR _.r=__d
m K ™ Dlﬁ &l L : =
R T = T l : i ~
e -y~ = Fhy H —— -— =
W D_xu_ﬂu = m_ﬂj ot ™ _1.—0_ x_ow
™ 10. — ' — M
Wi o 0 3 woiE > Ko
0 op T urzo 2 MO w = fo i KH
K1 Ik — — K Al ~4 I ~\. - oS ans 1 <F Kb
~ R ol o oY I B -
Besdwd  wld o | T AR me
! 1o = [l Tl i RU ™
e s L WE o P ! _
o._ A_._uE ! - : ED
i FL =y W ¥ L K4 JJ
= W= ko B W or = ——— g
N o = W &° o=
Nz= 5w XN 23 o
= ST w5 O
_ < 2
i L Wy — S =W il 70
W om N e & <&k 0 RO =t
~ o o = W= R0 TOKE .
—dg 2= ym wr 0.0
M & 8%

3-2



S=50150167342

[E 2]

Frebd A Aotge] wiE 2E VAL

.n!a.i.ﬁ.%..y..!
P
| = &
: o : he' s .

. .
PR W ——
v 1 1

P m
[ O L)
(=] e -

PR
i

"t
L
| S
1

3..!..-1-!....!
i i

i< i i
T B Ry
w R
o |
Ll |

Lt 0.4% Olat EItAIOI= EIJtE6tE LIEHHRACE.

579 g9

(57)

700

R0

3-3



